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. Which of the following is not produced from silk worn

(1) Sabra Silk (2% Fri Silk
(3) Muga Silk (4) Kosa Sil
2 A =S L.

_4,_,..; o WSO mes‘/r,bs".j ﬂ&‘!—l‘ é‘:’ 'M(J«ar;-; : 7

(1) S D6

(3) =oorr 2ex (4) 53 S
The Central AGMARK Laboratory is located in

(1) Faridabad (2) Nagpur
(3) Amaravati (4) Hyderabad
ol ey 'F{; Bed §TEBES

(1) Bborers o (D) 78rs

(3) e:507589

Which of the following tribes is not a hunting tribe in India ”
(2) Meena of Rajasthan

(1) Chenchu of Andhra Pradesh

(3) Kamar of Madhya Pradesh
sl t o B8, 3 3K 52050

(4) lIrula of Tamil Nadu and Ken

(2) O _ -

(1) ¢ ol 6":’4 55 0 % o)
(3) ::..Jq:g;:a 40 o8 (4) Bo¥ares Sobake SRED

art of Golden Quadrilateral 7
(2) Mumbai

Which city is nota p
(1) Hyderabad

(3) Chennai

ﬁsgcf) ?S@Még 2P0 SPeING0 NS 9

(1) 3_5‘65@2.3"5 2) 508

(4) New Delhi
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(2) Guntur

(4) Visakhapatnam

(2) HooLs

(4)

(3) Bt

' ic Interest Litig PIL)
11. Which Supreme Court Judge introduced Public Interest Litigation {

(1) P. N. Bhagwati (2) D.Y. Chandra ( hud
(3) H.J. Kania (4) S. H. Kapadia

: & ofi. -~ st “ D
e ._.\_UJ e300 & QW\SD (PIL }\J -\—uﬂ\.)»-u]( e ,_,__,Uv o' \*J-"“"“'-’J '-" JO02 7
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12. The first Indian State which established Lokayukta in 1971

(1) Rajasthan (2) Andhra Pradesh

(3) Maharashtra (4) Karnataka
197148° & staiosito o Soaded rEBo Toho &8 ?

530 & TRl
(”‘ C'—wl'nf__i*d {2} S0P
(3) ‘:MZ:*OF:_{: (4) Soreos

13. Which was the Commission/Committee appointed to study the Fundamental Duties in 1

(1) Varma Commitiee N N/ i ;
(2) M. M. Punchi Commission

(3) Rajamannar C .
) Sapamannar Committee (4) Sardar Swaran Singh Committee
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14. Which is the best measure of 3 country’s e

(1) GNP (2) PCI conomic growth 7

(3) NNp
LT ’ (4) GDP

% u} o = LadlaPn) ah\\.‘h.k_, S .,_,.,QJ \-¢‘. ¢
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16. The Government of India Inttative that he Ips users id

otnets from their devices js
) Cyber Swachhta Kendra
(2) Indian Computer Emergency Response Team
(3) Cyber Surakshit Bharat
4) National Cyber Crime Reporting Portal

—rT B350 HPBE e e,
LA T NED Sl QUSOE ANUGE e 50000 o
T e e T R P
vo UAdedle GO 830685 9
e B e
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17. What does the Pradhan Mantri Jan Arogya Yojana (PMJAY) aim to ac

(1) To reduce the number of health care workers

(2) To provide health insurance coverage to cconomically vulnerable |

(3) To eliminate all private hospitals
(4) To improve public health education only

PEEBEod e S00® e &b @res (PMIAY)

vt g - - -
(1) 07 oEes 570, 200 oo G
= Bone v bk -
| / 100N W AL GBS TR - LI €
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(4) O Mg 2Jeead 53 oI [ g (

8. Which Indian city is known as Space city ?

(1) Trivendrum (2) Bhopal

(3) Sriharikota (4) Bangalore

WIS ove) SHOPR)) @OBOE Bl el Sesdrds 9
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Swasthya Bima Yojana

|8
rsal Immunization Programme (UIP)

Swachh Bharat Abhiyan
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Pradhan Mantr Jan Arogya Yojana

JIP)

(3) S5 e |
a
|

750 kn o ¢ speed

(1) 5 hrs (2) 10 hrs i_.?.\ 15 hrs +) =

o i 150 &35 3 Kotoed: Paiorercod @ 00 10U Swel. SC o |=C RS- |
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(1) 5 oo (2) 10 Koesex (3) 15 Rotees 4) 20 ot

21. Open Market operations of RBI are sales and purchases of
(1) Foreign currency (2) Trade bills

s | . ” y 1t1a { - . s
(3) Government securities (4) Corporate securities

RBI £33 5585 S°5:5e7areh Bod] D &350 5e0 So0aks S5
(1) C ‘N -
(2) Tredex de

b ) 3y 11941 iy Y
22. Devaluation of rupee in India was nrst introd

uced in the vear
l Q40 5 ‘
(1) 1949 (2) 166

(3) 1972 (4) 1990
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During a perad ol mflation prices should
e reiase (2 Dhecreny 2
() Constant (Y Fluctmte
CROLI
(1) \ (£) o
(3) (4) |

Which commutioe was constituted for reforms in tax structure

(1) Narasimham Committee (2) Gadgl Committee

(3) Chelhah Commitiee (4) Kelkar Commitiee

.'\\.\' L= I o) norne "-‘.I-" ) I:'-'l'-’l Y :'.I = B 3 r: [ o B
(1 k) (2) e 5D
(3 ¢ Soed (@) S0 ok

In whi¢h part of the Indian Constitution can GST be found ?
(1) 12 A of Article 366 (2) 12 A of Article 365

(3) 12.A of Article 364 (4) None

#5S orercons) D erRed’ BhY HorRsEoy ¢
r . g ~ T 5
(1) 658 366 B05 12 A (2) & YOS U 12 A
(4) & =6

(3) es058 364 a3l 12A

Who was the nationalist poet to use the word Tenuguialli for the first ime n Telugu national

writings

(1) Rayaprolu Subbarao
(2) Viswanadha Satyanarayana

(3) Gurram Jashua

(4) Kodali Venkata Ratnam

T NP i 4 e B (B i S arts DI i 2 p st g Lad ;| OV oo Byl ETY NSE YD

Do) e85 DTN, a0 CHeIRMOMT G0N BTG DWWl Gad QA TO W & QIO Sod ato 3
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=¥E

(1) oroiDien SoeTHo™Y
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ecember 14, 1952 (2) December

December 16, 1952 (4) Degember 17. 19
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B 30. Which of the tollowing is not ang of 1}

1ereasons for the beginning of Telangana Movement i 1969 2
(1) Failure in the proper implementation of Gentlemen Agreement after the formation o
Andhra Pradesh
(2) Assumption that the Andhras were exploiting the resources and the surplus income of
Telangana
(3) Assumption that the competition from Andhra in employment opportunities was leading

unemployment among the Telangana vouth

(4) AP High Court’s verdict that the Mulki Rules are not applicable after the formation of
Andhra Pradesh

1969 & Booires esisiive (o8 SIERS 8 2od 77U oMo T e
(1) eoEsas rv:‘\ 500 SO SOOI LNOWHy 2(E500MT G0 Sacod 3

(2) SOONTES DBE0E0 S90A50 VL LTFOE 50Tt B oot U grss

(3) &85 wssTed’ eos Suoe e Boorre dlossS’ D6 BT TOSPolS &P

(4) SoBE8S I5)ES oS0 JwoPes HOSEN 2 T 30 HEx

The percentage of agricultural land is very high in all the following states except

(1) Sikkim (2) Haryana (3) Punjab (#) Uuar Pradesh
5: 88 @;)cl cvg’-a:é's ;5;5&03;3 SO BP0 TP BRI €00, L5 T o€ &° 885

(N ““’I.D (2) o5 (3) Soered (@)&50 584 -

. Which is the biggest enterprise of the Government of India ? ";‘;‘

(1) Railways (2) Postal and Telegraphs
(3; Banking (4) Shipping

BPES (BEHodS 3085 wBLY BEosstol Moy 90 9

(1) Bédw (2) DS BoBako B
(3) a.a'-“!soio’: (4) ey R

33, The Wildlife Crime Control Bureaun (WCCB) i India was established in
(1) 1992 (2) 2003
(3) 2007 (4) 2015

E : o eh o=h e A e e - 5 =l
: wdéagog ?_é ?5 I.';’,f)o Kord'd AN (WCCB) &: 808 Nodthorod’ rhosadod o
3 " &

(1) 1992 (2) 2003
(3) 2007 (4) 2015
1
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35, The Gov ernment -led !
digital documen!
(1) KY(
(3) ' Digi locker
(1) KY( 2y RHIM

36. Find the next term in the !l‘”l\‘_‘_i'lls. SEeTiEe
R SUTIeS

RNQPOM, NPROMO PONMOR OMPORY

N
N,

AP M
(1) MPOQRN (2) MOQORNpP

(3) MOQPONR

RNQPOM, NPROMOQ, Pony,
» PONMQR, opp
< A\ QI{N

(D' MPOQRN () Mmooy

(3) MQPONR
12
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§7. Statement All dancers areartists. S
S : ‘ SIS, Some artists are painlers o
onclusion : I. All artists are d; B
1 § are dancers, s
ome painters are dancers.
Then which one of the following is co )
8 correct |
(1) 1is true and II is false (2y 1is fal MIRER:
: 2 is false and 11 15 truc
(3) I and Il both are true (4) 1and I botl fal
. anc FOLh ATre [RAISC
BEWTC 1 Sy SO0 Sy ithes. Shos
2 S O a0 5F S U =
SasBAtay I esclSsSe 3‘-‘;'—4316"”“ s P
a3 22 l-.:\_‘\_.:‘._} AHCA - :
== w -~ =%
. S0 3008 DRI Toms 5L i
- L i = .”

] ‘.::‘;.?"u mblEehhe "0.."“-'_-"'.4 ¥ e =2

{ ) | D = 5 (£) [ 988550 =0 ooa 11 850
- < s e i e oy PR S | : C ;
(—’} I 52350583 I1 So& fJest0 ( ) 1 8600 I1 Bodes RS i-:

12 men can compiete‘a work in 16 days. In how many days will 8 men complete the same work ~

(1) 18 (2) 24 : (3) 20 4) 6

@,
’(
|

BE 590 12 $008 Dt 165 e 55 @B HAD B S0cd PHESDTS <l
SO 2
Q) 18 (2) 24 (3) 20 @) 6

. A father is twice old as his son. 8 years back their ages were in the ratio 8 = 3, then present ag

of father and son respectively are
(1) 46 years, 23 years
(3) 50 years, 25 years

(2) 36 years, 18 years

(4) 40 years, 20 years

éﬁO@ e . erw\gu awﬁ DFBBOE0°S B0 T RSO i 8:3ed
Boo oG SoBX ¥ BRSOy ST J0S 2 J
(2) 36 Soil, 18 80 2

(1) 46 5o, 23 2011
(3) 50 o1, 25 Bell
Adealersellsa notebook for X 39 and gains as much in percent

en the cost price of notebook is
(2) ¥29 (3) T 30 @) T3

(4) 40 Holl, 20 %)

age as the cost price of the note/

B — ~

m oy ;S e ?39 O T T T TR b e g =y S S S

‘......u w\- olh w = [.4._»... L...._‘ OPe 0P (DNl S o oo Dol Dol S Py of :\:l.r.._'
N = = A, 58

2) 29 (3) T 30 (4) X 34
13


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GETITON

Google Play

T, I“’ " o

ik o the s v g
L'. | | I ’J".‘.r'

I I (d)
£

o o ol Hhe j
! LY
||.n.allnllf“['|-"”'1|JI " E
(1) N !

Direetion
The toller,

Yk cotie |
- # eotwren
MsWer i

e
Ay
w; A

“ .
o wy

| e Iy Heddy | |
Dy, G s o Adhi Reddy

dA )
Crnc) v
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J1, Wi
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1)1 ()

(1) 2005 (2) 2015

) M)t (4 i)210)
(1) 200 (2) 2015 (3) 2010 J

d44. Which Indian ageney is responsible for Cyber Security 7

(4) NITI Aayog

(1), RAW (2) CERT-In (3) 15RO
(Ji |'IJ 4 /! i (.5) {lj |';'¢;;Fh'
45. Which Indian nuclear reactor is used for researeh purposes

(1) Kaiga (2) Kuda

g ) Kudankulag ;

i (3) Dhruva (4) Narora
(1) 8n (Z) &
[‘ o
) ’ ';’ r’l’;
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46. A shopkeeper marks his goods 10% above « ost-pt

his net loss percent ?

(1) 12% (2) 8% (3) 1¢
2.5 SoTPesTri0 Ddads B Soks 108
SHOD T, BooD SBDI ST VG o S0
(1) 12% (2) 8% (3) 10

Directions :

The following questions (47 and 48) contain four sentences °

lack coherence, connection and development. There is only on
alt

4 coherent passage. Choose the correct arrangement from the

answer as 1. 2. 3 or 4 in the answer sheet.

DgFEReo
208 @’:%Qz:f (47 S5t 48) 2553 el TS0 SORCE0. T 2 it SR
So5EHS ) oy aos [0, D50 SRBES. TR RS0, 855
BE\comoos. (B0 500 S5 S80S
. 1,2, 3 5604 o RATGRS S Fred ToooNed
47. a. He has two sisters and one brother.
b. He took responsibility for the family and made them all well settled
¢. His father died due to ill health.
d. Raju is the eldest son in the family.
(I) adbec (2) dbac (3) dach (4) decab

(1) adbec (2 Z
2) dbac 3) dacl
ac (3) dach (4) dcab
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1. Who said that Directive Pringiples of the State Policy was “New Magna
(1) ‘M.Y. Pylee (2) M. K. Gandhi
(3) B. R. Ambedkar (4) D.D. Basu
: 3 @t BN Ry
(1) 0. 3.2 2)
3) ab. e (4) ¢

52. In which year, was the Child Labour Prohibition and Regulation Al
(1) 1987 (2) 1985 (3) 1986 1
e 56,5 DRGo HoBINeRees B  Ho5E000
(1) 1987 (2) 1985 (3) 1986 )3
53. Which article deals with ‘Universal Franchise’ in the Constitution ¢
(1) Article 325 (2) Article 320
(3) Article 326 (4) Article 324
5 8630 sy 2K God DefEtre Bpiise
(2) eBE0 320
(4) & 324

§4. Though he/she is not a Member of Parliament of India, but he/she is an integr al part 0
Parliament — Who ?
(1) Prime Minister (2) Lok Sabha Speaker
(3) President (4) Deputy Speaker
aé:;-\:’ b_- l{«-I-‘-_I :-.’;"' i :‘ h- : .::'

> 3 ),
(1) pes Sod V) §
(3) o8 (4) 3

85, Who has the power to create new All India Services in India ?

(1) Lok Sabha (2) Prime Minister
(3) President (4) Rajya Sabha

| ang P o Sem R =
< DGIS'00 WaOs &0l 9

£

er55tdod 58 edo grod ?-':,{‘)-;; 3

(1) &5 (2) Pord 5o
(3) oge® (4) e
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58. The portfolio inyestment by foré
(1) FII
(3) SDR

59. Blue Revolution is related with

60.

(1) Fish (2) @il Seeds

S REeHEODWRE

(1) e (2) 0% Noses

M. S. Swaminathan was known as
(1) Father of White Revolution
f_l Father of Green Revolution
(3) Father of Pink Revolution

{) Father of Purple Revolution
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6l1. The largest e-waste producing

1Y in India s

(1) Mumbai {

2) Bengalury

1_i| JIIOE (2)

Y aes .
62. The concept of a circular economy in waste management

(1) Using products until they break

(2) Mimmizing waste by reusing and recycling mates

(3) Sending all waste to landfills

(4) Banning new product manufacturing

S e o e O o 0« O
it DTN 0 OIS s\ T T EE05 ES W - =S
(1) cdSoR0 &5 U000 SUET eSCoTTon

(2) S2CCren O8R &SIFNoED oD ORS00 «

4 tr S R R
(3) Sy RTON 20 i

To3 2105 by 0 R o e wlwile

{l) DC“N (2} Vil
(3) Hyderabad (4) Bengaluru

e T T T I S (e T
EFOOBOToL SRS aliid W rAASAS

(1) &2
i E (4)

( 3 ) 0| it A

64. The Integrated Pest Management (IPM) approach focus
(1) Use of only chemical pesticides

(2) Eliminating all pests

| ' ¢ yethod
(3) Combination of biological, cultural and mechanical metho

v resistance 1 Crops
(4) Increasing pesticide resistance in Cioj

) Boaitheioned (IPM) 4G

B it E
csla[UD [ [0 i ool

(1) BIrosns HERISIOEE TS

4 =1 . [ e, W
{T’J oy EN0EY D EIRDND W

3) & NooIER. 5 £30 ooy 1608 aalic Sros SHB0O
(3) @roes Qolbodhes.S «° 1) ‘

(4) Sotied DEMBHSEO O ¢

G P
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66. Annamayya district is carved from parts ol €rstwitl

’ M Nellore. YSR Kadap
(1) Chittoor, Nellore Nell

(4) Anantapuramu, KUmo

(3) YSR Kadapa, Chittoor

(3) Dol EGE, wIdTico

67. Scientific name of Red Sandalwood is

(1) Pterocarpus indicus (2) Santalum album

(3) Pterocarpus santalinus (4) Santalum indicus

— .6

68. Visakhapatnam Port is protected from sea waves and cy clones by the

(1) Rushikonda (2) Dolphin’s N
) ’ 5 INOSE

(3) Kailasagirn Hillg ;
kol (4) Yarada Hills

(3) Seriont Sotien
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069, S sthi et 15 10gale = DEnis
9 1 Kalahusthi r1jl||. located on the | ! i
chol

(1) MNagavah
(2} Gowthami

(3) Vamshadhara
(4) Swarnamukhi

70, “Krishna Sastri’s pain is the pain of the world: the pain of the world is Sri Sri’s pun?
& OTL L am'’,

who said these words about Sni Sri 7

(1) Dey ulapally Krishna Sastri (2) Viswanadha Satyanarayana

(4) Gudipati'Venkata Chalam

(3) Nanduri Rammohan Rao

(2)

(4) 1

hod of solid waste disposal n India 18

The most ¢omimon met

(2) Land filling

(1) Incineration
(4) Composting

(3) Recycling

- ) Bl e AT « a - SCALISE
A sanitary {andfill is different from an open dump because
(1) It does not require land

| eve sater contamination
(2). 1t uses a [iner system ta pIL.\Lnt glmlnd»\ er ¢ i

(3) It burns wasle

(4) Itisused only for plastic waste
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73. The Solidl Wasle

76. The Mo
(1) Oz
(3) Rai

(1) Mumeip il Gelid Wit

(2) [lazardous \Wisie f e
() Plastic Wasle Rules 1)1 |
Wi
s Sl

(1) &4
€3) S

(4) ]hulmull\-l-"'-'\-:-’- B

3 97. Whict
(3), 5 e NPT s
1

(4) 2033 5 M Siope 10 = -
L e A ST T )
74, Extended Producer Respansibility (EPR) makes manufacturers 1u.~pnn.~,1blr. for b 1
i (4)

(1) Transporting wasLe

(2) Collection and recycling of their products after u

(3) Only pre ydueing hindegradable plastics

(4) Burmng plastic wasle

Wiy Bl o ) (EPR) Bairbortonibs 2S ETGgk
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75. The Qwachh Bharat Mission (SBM
M) was launched in

1y 2012
(1) 201 (2) 2014
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6. The Montreal Protocol (1987) is related to . I\_“.jo!
(1) Ozone layer protection (2) Carbon tradi m
i radin
(3) Rainforest conservation (4) [)eqertiﬁcatio: | ;
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(1) o DO e (2) s°Gyo Tgrdo I
(3) SCOege S8OFEs : (4) JeO558 Naoden

-7, Which was the first major international agreement to address climate change ?
(1) Paris Agreement
(2) Kyoto Protocol
(3) Montreal Protocol
(4) UN Framework Corwentm-rlI {m Climate Change (UNFCCC)

T STC0OR0 :aau:%aoacsn:ag f.?@csga B0o65ed BEES eosTHAD e5eto 8 2 E
(1) 6% asdyoe B
(2) S5 PSS i

(4) Tosoe 576D UN 8356, $3530 (UNFCCC)

78. The Bonn Challenge aimsto Lo

[t &
(1) Reduce CO, emiSSions = L ‘
(2) Restore degraded and deforested land H

II-'JI-,‘,I \

promote industrialization %

Encourage coal usage
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79, The species that shows crucial role in maintaining the structure, function and biodivers

N 1€ species b ¥

ecosystem are ! .
(2) Endemic Species

(4) Flagship Species

- o ol BN e R = £ \. (1P 9 5
D DTBUE BgR Gl 07690, BUOL B0 a@.g&ﬁtﬁ“gfﬂ et

(1) Keystone Species

(3) Foundation Speeies

e
Wl e
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(1) S srdoen (2) SR8 erdooo

(4) HErs erdoe

(3) DO ot

80. Which human activity contributes most to the global warming ?
(1) Wind energy production
(2) Solar power production
(3) Planting trees
(-—t ) Deforestation and burning of fossil fuels

008 TO0A% O SHNH SEEoTPEs JEST &GO 2

N e S @ LA
(4) @8I 8T 0By Bere: JOGT® G750

81. Which state is the largest producer of Copper in India ?

(1) Rajasthan (2) Andhra Pradesh

(3) Madhya Pradesh (4) Telangana
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Histogram
(2) Pie diagram

Bar Graph ; (4) Frequency polygon
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87. Match the following diseases and their modes of transm ﬁ

|9

jssion.

A. Cholera 1. Spread through blood or body fluids

B. Hepatitis A 1. Vector-borne transmission, typically through mosquito b

and water

C. Influenza 111. Transmission through food
(,'].”y thmugh dfﬁplﬂs frm

D. Malaria IV. Airborne transmission, typi

or sneeze
(1) A-NILB-LC-1V,D=1
2) A-1V,B-LC-1lI, D=1l
3) A-IV,B-1II,C-I,D -1
4) A-IL,B-IV,C-1,D=1

a

Sob Tgdo $o00%0 T3 RS ;bc‘:ii’soa):éo [0 oce:
A. SoCr I. 8% So- ¥68 =Y o Tém Botosood 5
B. 5830 A 1. 3§56 o0 oEDCD HFB0, OO S50 e T
C. 30y o 11, &50 $oB050 A3 T $oER0B
D. So800 IV, 78 Greo S0(ER00D 750, Sorieorr SR 8T éoé;:&

Dot 70"

(1) A<, B-1C=1V,D-1I

Fa

(2) A-IV,B-1,C-1IL, D11
(3) A-1V,B-1II,C - IL D~
4) A-TILB-1V,C-L D1l

88. Which of the following is not a renewable energy source in India ?
(1) Solar Encrgy (2) Nuclear Energy
(3) Hydro-power (4) Wind Energy
208 736" SO PEBEHS DTS oL 550 T 9
(1) F6% Q) sy
(3) wot (4) %55 8
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- 55308 BB FEOE Rark, Andhra Pradesh
et 556,98 o e
P T 5
_____ 5 3 :, ﬁ"’sb mﬁ&tﬁa‘gm

3) ot b ﬁ"SZ’, §o;ea§g
4) 50O J' o Ferd @%60@@8‘5

91, Thel .neth ofa R R

¢ e e ectangle is increased by 60%. By what percent should its breadth be decreased
15 to maintain same area ?
38, o7 FTroyed SO0

(4) 38
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550 ey 60% H0uk

LS
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375 (2) 42'53 (3) 25 (4) 38
ich of the following measures of central tendency can be calculated graphically ?
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03, Three PEESS A, B A ﬂl‘é Playmg a game by standing on a circle of radius 5 m drawn in 2

[1I1

A throws a ball to B, B40'C, C to A. If the distance between A to Band B to Cis 6 m each,

I,
the distance between‘Adand C ?
[y 9.6 m (2) 82 m (3) 10.3 m (4) 115m
2 DO &S BW e380BOTHO0-
5 C & 50080 b§m&§3°(ﬁobe35 58, 508 hddnBed -
25 ¥l -“*xB &) 0 %
s ioEtso, A, B © $otg 20 B,
B 5, wao@iﬁﬁé: 0 &5 208 A5 I %‘i
! e
ond A, Ce ;’D wcso Jod
(3) 103 2. (4) 1159,
2) 825 | g
31

\ |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GETITON
Google Play

i ‘

| .
: . ,‘.:,“ _

Q M H‘\ll‘_l‘ ) (l‘l'l; =
('L I.“ N 4 (‘

(2) 0.9
(n !

1
1

; "t .9
It"lN”" x u)_n-ﬂ-’ - {0_0: /) .
\
RIBL
(2) 0.9
(n 1
f)
' lue of X ?
hat is the va
In the figure given below, /|| m andplla W
100. In %

(2) 42°
(1) 54°
(4) 45°
(3) 44°
ool 08 ?

Tor g
2 A wessnd || m =000 P | q e s;:ssauo&. X

et

(2) 42°

(1) 54

M\ AA° (4) 45


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A GETITON

 Google Play

e
Ay wo points P &
\__}l\&? ind Q are ¢ ey Stde < GSIOBAF 20
54 : "'.t ®qual
“““S, ) thal Bp Ce
'-I'L TUNItS, aned AT
a “ -
(2) 3 X!
’ _ 3). 43 4
D L&%& "-,;_;.
Q.
%o&_u.,
( D P = o Y& ‘a .
\-Da% Q BP CQ
h%(’)&; SWAN . . s
V3 N ChoSndon AP, AQ o PA
o T (2) 3;\!
(3) \."I'.‘.' a (4)
l'he hour hand of g §
cloc
- kisg M long. The areq
r H"m}‘ Iea swept by it between 8.00 am and 11 00 am
) Z 0K (2) 8?"';
tm2
Jl %gm (3) 12 n cm? (4) 16 xem
1 e T e —t ,—_\:_:)\’_:»D IJII:IL
a0 alaldd LG - ‘ =
oA ES.DEH"Q PER) 8 Moh.. &8 8.00 am Sc8asxn 11.00 am msoa
e B
= A e

2 THORoSD (2) 8 mSDoo. (3) 12 & 5505, el

ree persons A, B and C areplaying a game by standing on a circle of radius 5 m drawn in a
A throws a ball to B, B4eiCy €10 A. If the distance between A to B and B to C is 6 m each,

4t is the distance between'A and € ?

3) 10.3 4) 11.5m
(1) 9.6 m (2) 82 m (3) 103 m

: By, T eod AR Hto 2 DOt 6.5 B8 SEXBITH.

L, D oJOOCUIDD O V0 f
5 DT, A, B © 2008 2000 B,Co Sulas
(=}2{u]
é 0 :ﬁ:"_‘a-

\ 0.5 25059 B £, Bé& poBRIC &, C Y podl A
L &8 2)089%) |

{750 6551 @O0D A,Cwm@s

(3) 10.3 . (45,
31 (C)

1) 9.6,

@) 82 460


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

f a country on various sports d

pie char shows the expenditure O
oy um! answer the qucgtmn 1
ricket dfid hockey together < 35.09.00, the total amoy

. .i._

104. The foll
year. Study the §
| mumnl gpent on

If the tota

on 5[10!15 is

| . _\\\\\;‘ K“‘”- _f
|Il L& L*\'_."I 5 }H
\.\ / o0 /"'f
Ay /
\\:\E_—_—
(3) ¥ 70,00,000 (4) T 68,0

(‘7) T 85,00,000
(x5 Sroos’ 206 Stio D iz TS ISC F

fo 8.8 D
S50 a—im
52 Fs Boado B X 35,00,000, Boogo &y o Ex

e

wiS O

(1) 72,00,000 (2) X 85,00,000 (3) ¥ 70,00,000 4) X

The Median of an equilateral triangle is 8+/3 cm. What is the area of the trian
(3) 3243 cm? @

T (£980e30 B0 [otSelies e
Qo0%), oG o) S 8\/5 cm. & (Behes 3@@50 Jeﬁ '.

(2) 64 2
V3em (3) 3245 e
32

(1) 72\/3(:1‘[]2 2) 64\/§cm2

:\h\'\—\
G eI eI

(1) 7243 cm?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

gAF/500 P yhat are transgenie Ogan;
JO7 { : .
G ) Natural plants and -
, particular lm L\
. rganisms y
" [ Vhoge I)N.p\h Q!
¢ spent ) Organisms thay Can g m 1ﬁ
| ed
| vq With genee from
v Only bacteria 5 -
.‘i € climateq
s
et 2

Go B8)es 0§ ¢ o
m ?n

R0 086K & g :
oS B es! DNA%S%Q” B 5
e 8305 E:5es

T TSRt m
25 SO0K® SovEsas @@m

aris Agreement aims
TS 0 limit global temperature rise to
¢ (2) 1,5"-‘(:“«,! (3) 3°C (4) 5°C
TOT 5000 (3908 SIS BEH ,;:n kol 6250 Saired oo e3E08 2
T & ¢ (2) 1.5°¢% (3) 3°C (4) 5°C
\:‘,;E b

{ rain has a pH lowerthan
3.0 (2) 5.6 (3) 7.0 (4) 95
; N
5o pH 2993 52 ok é&bﬁﬁﬁéomo&.

' e 1/ g
3.0 (2) 5.6: st (3) 7.0 4) 9.5
4 T I...'-l-
9. The largest ozone hole is observed over

(2) Australia
g ) Africa (4) India

s (3) Antarctica

!

) SRS \ (4) @-0@5-50

GET ITON

 Google Play

(©)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GETITON

Google Play

anisms ?

1. Hov
(1) Stre spgthens ¢

¢s she 1] tormi ation in marne gpecies

(2), Reduc

(3) Incréi ascs fish |mpul ations
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{11. The sum of three numbers is 104. The ratio of the first to the secondis 3 : 4 and 3
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*024, how many Biosphere Reserves are there in India ?

(2) 18 () 20
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127. The mean of 12 observations was calculated as 60. 1t was detected on rechecking that v

was mistakenly copied as 28, What is the correct mean ©
(2) 63 (3) o4 (4) 72
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139. What type of ecological pyramid can never be inverted ?
(2) Pyramid of Energy

(1) Pyramid of Biomass
(3) Pyramid of Numbers (4) Pyramid of Productivity
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140. Who introduced the concept of Biodiversity Hotspots ?

(1) Norman Myers _ (2) E. O. Wilson
(3) Charles Darwin, (4) Aldo Leopold
530055 25565650 g 6D 590669

(1) >5S JocHby (2) E.O. den®
(3) 3R &85 (4) &8 dBrFS

141. Which program aims to provide clean cooking fuel to low-income households in India ?

(1) Pradhan Mantri Awas Yojana

(2) National Electric Mobility Mission

(3) Pradhan Mantri Ujjwala Yojana

(4) National Energy Efficiency Action Plan
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150. The National Air Quality Index (NAQI) in India measures which key pollutants ?

(1) Only Sulfur Dioxide (SO,) and Nitrogen Oxides (NOY)

(2) All greenhouse ga5CS.
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